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a Polynomials

o Circle Geometry

o Inverse Trigonometric F unctions
Q

Integration IT

Time Allowed: 75 minutes

Instructions:

o There are 3 (THREE) questions of equal value,

o Start each question on a new page.
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'QUESTION 3:
a) For the function fx)= Zslin" 3x:
ii. State the domain.
iii. . State the range.

iv. Sketch the graph of the function.

V. Find the equation of the tangent to the curve at the point y = %

b) For the function y 1.
: x+2

i. Find the inverse function.
ii. Find the point(s) of intersection between the function and its
inverse.

c) If f(x)=sin"'x+cosx, ~1<x<1:
| fi. Show that f (x)=0 forallx.
i, Show that s=Zforall .

d) Find the derivative of y =cos™ v1—x .

e) Write down the general solution for sing = —\71_5

Leave your answer in terms of = . .

3
f) Evaluate [3 T

g) Evaluate, showing working, sin[cos‘]-g--*-t'an" (—gn

END OF TEST ©
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